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Time : 3 Hours A Marks : 200
Instructions :

(i) Each question carries one mark.
(28 (D95 a8 sy Sod.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHd VNS (D8 (DD adg &S T3St DO WS VI, dNndy I8V &7
$r00T ©oE 1, 2, 3 B8 4 T a0 8 OMR Jrerd H(E00S° (9415 o 040DS
Dopg Ho &8 _r/erE wrd rowod DB GDB/rA0D JodhHSle.

1. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Howgs D ®d DI Sopgdo OIS HUoy Dowg 19 T I yhdom
H oS Bodo?

(1) 14 2) 5 3) 1 4) 3

2. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take m = 22/7)
¥ &g (s” 3% 60 %00.09, 35 0.0 H000%0 22 0.2 ﬁzél @oé&éw@s §°5°Se§_o°e>a
Boﬁ?g@éog"él&, 7 200.000 J"Sfoéoa 5980350 4 200.20 o)é_%@s S 05° 80 Boﬁog({@ﬁé
Qrarsdy EFgHe dopg (1= 22/70d B%o8%08 )
(1) 75 (2) 150 (3) 300 (4) 400

3. Find the greatest of the following numbers
&8s (80O fooapsoef’ ©8 G Dopg SIA"0H

V5413, V7 =+5, 9 -7, V11-49
(M 5-43 ) J7-45 3) Ji1-+9 @ Jo-v7

4. Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?
5 fobeo B0 (Brido Bodeo weron. $ Hobowdr HEdM 6, 5, 7, 10 Loddw
12 280g S50 (8rihdo. BndEI0 (Braidd SEH DeSHowe &0, ¥ do®
DH0500S° 0 ©d) INFTE EOD (Bride?

(1) 7 2) 8 3) 9 4) 10
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5. In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is
Jreo, 2’3@350@ OV 40 S0 MHH08° A& 5%. I8 TEo 10% oTIghr a0y
59}"0@ s DFIrI8 Forood, Foddodd I Hosrmo oSt

1 1 2 1
(1) 55 () 35 (3) 25 4) 65

6. The number of integers which are not perfect squares between 16> and 177 is
167 %0050 177 Socsg HOUrg $ddwes 2 Grgose Howg
(1) 32 (2) 33 (3) 34 (4) 28

7. The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600

§0¢ 53“2603&0_:&3 o 10% TOPS Tody DodEyoroH zSLééﬁcge D00 0% rgede
éé@ DGg PSo S, 631. e Jogo Dy

(1) &> 63,000 (2) = 63,100  (3) &> 63,500  (4) &x. 63,600

8. If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2'% years (4) 3 years
wdewr Ir. 80,000/- o rend 10% 135L§P.6(§ Ten&® . 16,800 56(29 STk ¥
rgoHS’ $0VE © wdwwd WgoHS' GoAI SOHON
(1) 12 dod&yored (2) 2 dodgyoren (3) 2)2 Doddyoren (4) 3 DodEyoren

9. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is
a8 $g & . 50,0005 8% Jrgrde eﬁcgzé 2 JodEyorof Smonr gwe)dy H2005»
%8 8. 50,00005 ©T Tend Feodd SEDEE 2 Sodyored awryd. ToBY)
ESoTd ©dI8 80N V) Iz od® Flo
(1) 300 (2) 320 (3) 360 (4) 380
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A sum of money is lent at simple interest. Then the money gets doubled if

10. Match the following

Rate of interest No. of years
(1) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

od X wBLIL0k

§0d PI0yd gl écgeé OPYBIRFIB. & Jugo THoY edws

éé FE0 S0RE D0 60995
(1) 16%% (a) 12%
(i) 20% (b) 6
(ii1) 8% (c) 5

(1) (i) (i)
H @ (b) (o)
2  (© b (@
3 @ (c) (b)
4 (b (©) (a)

11. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 wrgod 10% 298¢ $88° Seror adod. 5786 8% H38 Swo §ord. o
gogd, 2J°§o§os’o 88 80690 263?3 ESCC%, goe. 40,00,000 = 10% éé@s 2652) Bng o
2 T Bodod HIr6H Srmrd) Howrdd Tod. HIrE 8VoKd) SenTood?
w&AD Zéczg Ten&® (oo Srarddhed®)
(1) 100 (2) 90 (3) 200 (4) 180

12. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is

(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
oot 162/3% SHps 3 Bosdyores Fod Fsmy SESE Sr 12,700 wonds.
©T 0y D, @0 $¢ Teos, ©08 JHrd8 Fede HG

(1) . 9,600 (2) 8». 10,800  (3) &x. 12,000  (4) Sx. 10,200
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13. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

o8 Jndo P 2 8% éé Tens® 2.8 D0DENP I8 HDYS zﬁ@éé@ 8. 600. ©T Bwko
P 3 »T Tws& 2 éoéésweeﬁ*’ 533 iﬁLéEé%

(1) 8x. 1,248 (2) 8. 1,428 (3) . 1,644 (4) &> 1,648

14. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it

will be 5 : 4. The sum of their present ages is

3 ‘“ooeééod"@ Bgo oo, ho Sosdoe SDKQ‘D@ 4 : 3, Toko foo&ﬁégcr’@ S Boze s
©¥d 5 4 9PHod. 0 (DG Sovdoe Bwdo

(H 41 (2) 43 (3) 45 (4) 48

15. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.

The ratio of milk and water in the fourth container is

Qardgy Fgo PIVOITrero Ry 3 1 4 1 5 & rEod Joo o Qe
WFLo08 Joard. @ FFoS* oo, VG Jaydeor v 4 1, 3 1 1 550050
5 2. 8 doedd @?Lé@é%éb W(FJro Iroad D @1’@5@5”3 TIPS, P d av@w*;) T
50050 A8 D2

(1) 4:1 (2) 151 : 48 (3) 157 : 53 4) 5:3

16. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the

cube of the middle number is

By Dopgo Povro Bwdo 1728 wThgbdrm &) dopge 038 3145 wond
2606,55 ?oospg [SSEIPRERSRENRNY

(1) 216 (2) 512 (3) 256 4) 128
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17. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 argard <oo(o Vo) Asogs Doy r§Fomr (060(7", FEFomr AATWrHoVS Adgs
FBorddo & Srrdr G008, ol Sos® 540 Bordy ATl HDHS Do
. 1,800. 55 Tos® 620 By AIWrmAE HW)S ?‘Dgo 8. 2,040. =¥ ot
500 G5ordo IITBrA0DSYE T DSgE Deo
(1) &. 1,560 (2) &o. 1,600 (3) 8. 1,620 (4) 8. 1,680

18. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 o8 X)@m%fo@ e e 10 SPwrod® oo, D638 TEoDy éﬂéodso &)
DT Foy wwdod 3 Food 5 wost s’éacs‘%‘bg QoSS O ?
(1) 36 (2) 18 (3) 20 4) 16

19. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
a8 SSK8S® 100 H208 Dmgé@fo@o wor) . wrodd fooagg ord¥e fooagg £0E 10
P&, ol Ve o 50 8. S3H8S*D Aergdooodd Dy Sy 45.5 8. (o
rd8o DLy $HD B (rodd)

(1) 40 (2) 45 (3) 50 4) 52

20. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) 1II alone gives the answer but not [
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 Ho0d do esegoé”s, 11 Ho0d e:sci)m@;f@ Dy Do 28 DodByoren. wdhd K&
Hosowos?
L 280 98 29 050 do womrd o8 adhdds 11 dDosdyores 4.
II. S°B08HE5°E, NADS D& Hood @cbm@;f@ Defen HA%d 27.3 DodEyoren.
2B DIrErdo D0ws0d
(D188 0TS Sdrerso 90300, Makgdh (2)11 28 T 0TS Sdrerso ad308, I abgdh
B)I& Il Bodr HIrerard8 ©dbSH (4 LI Bodkr 802, DIreedo adgdl)
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21. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
28 (Hoprodird8 Vel whTorod® 510 H08 H0d5n NADS dores® 240 H0d
DodE e HI. A SEn& 333&5@3335 30 doren $OAY Jos® o8 %08 (fogreoairas
é?ﬁz) Do&EHHo HorHd
(1) 250 (2) 276 (3) 280 (4) 285

22. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) 1 & II together give the answer

& (80b TP GO0 SSES508

HoTeeso @1’534’;50@ A, B, C o&®, 51’535 A3 q0&8rg g Efouh! é @2555%50@ dowg

L3 g3y dfensd (98 8w 20 Ho0& gl a0bdrgg B 0.

I A3 ao0drgg Sokhg & wigdhe dopg BT Johy T egigdhosod 2, C3
Badog o) @Qﬁg%ﬁo@ 08 1 Q§52ycf>. ‘

(1) T 3-E30 ddrgrdo aod (2) II 3@ ddrgrdo adod

(3) Taos II, Bodkr ddrgrdo angddy (4) IaostIl Todr 80D $drardo adoon

23. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

DEDI0 (A) ¢ 20 Dowgo (DfL) DoTO0 Dod) Yon's, St g6 om 19 &3
?ooz-pgen ©OEIWY.
80 (R) P BdE 20 dore Dopgo (DdLo) Hocdo 10.5.

(1) (A) %0005 (R) Bodr a8adom HTIB5°8 (A) 8 (R) 53D 258w
(2) (A) %0050 (R) Todkr aEdSomr HTID 572 (A) 8 (R) DT b8 5°¢%
(3) (A) 23836 579 (R) D05k

(4) (A) %057 572 (R) HTIB

24. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
28 208 Hudrd 3 208 T (DB DoddyBo VIS 5% Doderds. & xod
ad)8 0T JoH 8. 3000 o0 wond, Tod oIS e SHard ©F (Srrdihed®)
Q0¥ Godwod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50
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25. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000  (4) Rs. 15,000

a8 Hg & H(07Q) L0 HIEY AD 8. 30,0008 SPaeycdo. &8 07Dy ©ES 20%
orerds, HER) é&) 10% SarQ8 ©Hryde. VIEM wdd Bwdo W& 2% o
dgrd. Mo pb&H

(1) . 9,000 (2) . 10,000 (3) &». 12,000  (4) . 15,000

26. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer

gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is
(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

o8 $HD, SABrdTEHas 10%. -0 g0 8 15%, Dod Trg08 25% eoreSo
D006, @ Y Wed $8 . 1,265 ®WoNSd, oo $o5rd )

(1) . 800 (2) &x. 850 (3) . 900 (4) 8. 950

27. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Todko dopgo Hodg PSo 1660. 2% Dopg Ty 7.5%, D678 Dopg Ty 12.5%8
DIrIFE & Tods Domgen

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

28. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

a8 DHordostd Eégs’_%@@% 72% %008 5%, 44% 08 & (@ Hoerdo. 0 %oe® (28
265_30 5Rm, S (eriherds, Bodr (@00 Hggeo 40 $06 wond o JDHrErod’
28

R

) fooaog

(1) 250 (2) 200 (3) 300 (4) 450

IS 2016 A 7G
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29. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

a8 Sosteardods 87 8) TV &r. 20,000 "0 pd Todke TVen @S)oéwcéo. a8 TV
©03 Ed0 ©dI8 15% orgfdan H500050 Todd TV D @808 15% 390 S0)36.
WO YPE, @ 5P SV orefdw GH SFSRNY

(1) eoesdn 2.25% 2) ogssn 4%  (3) Sps» 4% (4) Spdw 2.25%

30. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation

of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

u &% T°g0 o0& a8 samrdid (PSS To v 16,000 &3y 28 TV
$E3de Tody Ehoy oo 20% & Sdhard 10% o¢® S %0, &8 » TV Jarer
D58 8. 480 98y wondd. wdd o TVI &r. 15,0008 @&&3, wdd8 HDYD
ol FRE D0

(1) 30 @2) 25 (3) 20 ) 15

31. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price

of the article should be (in rupees)

2.8 osrearrdady o8 HVoHdo S, 1,4708 @5)3&8 DY orefdo, ©q SHHB> 8. 1,0508
OB HDYS SHHNE HOFonIED HHodomrdd. ©EI8 & SN wdoyEdNS® 30%
P HN 0Fr00d, @ HNHH sodHoDd ©508D) $3 (Srroned®)

(1) 1638 (2) 1600 (3) 1578 (4) 1532

IS 2016 A 8 G
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32. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %8050 Beo 380 8. 16,000, . 12,0000 Zaéw &8 o8 argardo (Eodowrde.
3 Joo Sdares A, oo, 5,000 326%2)_ @?oé"’s"gféo; B zos® . 5,00000 &0 &
DErdo. 108°8 3 Jve ESHard C, & 21,0000 Do 38 srgardod® DoTd. af
DoNE o S 08 IJwgo . 26,400/-0 ero JA)od.

Bod (HHTdD0e H8R8D0$0d

(@) o) A, B, Ceo 7:9:6 S&Qé_oo@@’s H0WIETHI Bl

(b) (B 8 oregfo - C 8 erefo) = 3. 3,600/-

(c) A8 &x. 16,000/- oreo

DOOS DIrgrdo

(1) (a), (b) @ HOETHBD 2) (b), (¢) > HOTHBD

(3) (a), (c) © HBTIID @) (@), (b), (c) © ®d) HOTHID

33. Ais twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days
B &) A Tgoypy ,—:msoggogﬁ B BDoE oy H20050 ﬁ)@%ﬁcﬁ" 0D ¥ DI
18 &aros® Hro Bobiod. A 28y d & DIV QY Tosafe HHooo

(1) 27 &*een (2) 54 &*eren (3) 36 &fween (4) 45 SPeen

IS 2016 A 9G
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34. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B o 28 HJ 8. 6,000% Hrd BoSwed8 O PE I, €8 DIV A wE)do 6
SPeros’dr, B af)ds 8 SerodtS ro Wohdod. C 258008 28 & D 3
SPerod® Yro Basdo. :3“’263;&&3‘3 C B0 oo

(1) &. 3,000 (2) 8. 2,250 (3) &x. 750 4) 8. 1,500

35. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Todo =& a8 50 438 (836 wod wmron. soS*) Indd 10 LIS Hdde
Hordd 3.2 e 10 é;:égé's ©8d 4.68 0A0H. mh I°CHHE Bwdo DFId

303 BSrged &)Cgooo'fg WAOS 30 é)ég)é% Do Hordd Qod Gowd?
(1) 625 ) 6.5 3) 7.0 4) 7.5

36. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B %0050 C ©d :g"’oao@eS's ) a8 ghed a8 oY &r. 6,00,000 Sodo STES
adod. A ‘gﬂ’oooeﬁ%éb a&°gh8 adys Swdo B cg“oooej“gé’b GG A8 adyd Snands 889
T Hdasn B g"owmeﬁ%f\) x%&”sgﬁg 2WNS Bngo C gﬂ’oweﬁ'sb f:—scfissﬁg 2WNS Bnees
Tods Té. A cgﬁlooaés 50 %006, B g"OJJQYS 75 %008, C cgﬁooaés 100 %08 &&°gHo00®
A g”owé’s &) ¥ c%&ﬂgﬂ% CRAR SPED Do 2

(1) &> 1,500 (2) . 3,000 (3) . 4,500 (4) . 6,000

IS 2016 A 10 G



.

FRESHERS NOW

A

37. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 7 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 S0y, (HSrB0T (Edood® a8 $g8 & How 40 dres SEVS S,

5
@D DAOD SrSost 7 HoFy Srdo (DoSrdomrdd dodomrdy. gl SdE S50

(1) 9 8d/Ko (2) 6 8%/ (3) 10 8d/oe  (4) 8 8do/os

1
38. A cyclist reaches a certain place in 6 hours. If he reduces his speed by gth, he goes 5 km

less in the same time. His speed (in km/hour)

af $g8 8D (HAXrBoD, ¥ Lﬁ)éwé’b‘l 6 Kovods® Tl o $g8 @8 3(?’?0;
28 Ho éﬂoﬁoéoo%f, @B HH005008% wEds 5 8 ééozré Lﬁaoﬁy’eﬁ@:éo. @& SKo
(8/K0&r%)

1 2 4l 3 4l 4 3é
1 5 (2) 4 (3) 45 4 3¢

39. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tods By $5g8TE 04S* 2T THo8 (DArddysryon. 28E) Tor FEH 100
DO o0& © i) HEEE 10 DEIS® @S, w8E) Too TwE, o
(Kowd 85 eds)

(1) 84 Q) 72 3) 36 4) 32

40. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A 50050 B R0 g Hogg Srdo 390 8.00. &8 Teoo Dad A 5§ 10AM& 65 8.00/H0
BH08  HewTd Pad B ZH (dXrsSnes. TEE Tew Ras B ¢ 11 AMDH
35 8o/Ho BH0E G000 TO PRI A BY (HASTBO00. ©9d EooboEHT B0

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM

IS 2016 A 11 G
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41. The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is
a8 8fwre® HQ&rSos®d Hove 0050 Jddare zéoo@;fo@ w3 DT Tast, 25553?55
O4S® AV) FYo soron
(1) 20 2) 22 (3) 24 (4) 44

42. A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?
w8 I3 H&5rSo (D8 Troody ADarodH 5 DEN wffomr I8, TP
&&a50 8 HovhodH HOTVW ©d 8w oo@ 9 HovodH ©b Wrd BIH Jod?
(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

43. The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
%@"OOQS'BEO VH0 &% 0B
(1) SLoxrdo 2) oga>go (3) HEaso 4) $Ja>3o

44. X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is
(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350
a8 Frgardod® X $5005» Yoo 2 13 30)8S° e & wgrd. Sndo oros® 10%,
a8 FEFToH dorFomr 3 Ehard XE . 900 wrgfo SDNod. wPd Y8 51D
ol o
(1) &. 1,600 (2) &o. 2,500 (3) 8. 2,250 (4) &. 1,350

45. Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600
PR Ho8 050 AR wﬁ@gé\)go& Sngo . 60,000 Doy o D & DY
DS orgrdy) Ddrdom HowHTows BB FgRe Do D & NG R
DodENord8 10% éc{% W), d°gardo S&PoVI0BEH JodH oo 150 @?oaéo_agéaégom
2DJoB0 S D8 TR o0 & R o0 8ST DHo ad)owE, Fgardos’
SN Bwgo DodEE orgfo Hod?

(1) &s. 10,800 (2) d&o. 8,400 (3) . 14,200 (4) 8. 12,600

IS 2016 A 12 G



.

FRESHERS NOW

A

46. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take T = 22/7).

(a)
(b)
(c)

Area of the circle
Volume of the cone

Volume of the cylinder

(i) 264
(i) 924
(iii) 154

(d) Curved surface area of the cylinder (iv) 308

g NBH Dered® agdo T drde, 8 6 rde 0¥ & (808 &G
2EHET0q (DTS 5rdd 8s%0d, T =22/7 o 8%8%0k).

(a) $)g ITogdn (1) 264
(b)) %0%D $Ho3D0Jreadn (i1) 924
(c) P HIFDOBTHH0 (ii1) 154
(d) Yng’Xao SFso IFog0 (iv) 308

(a) (b) ©) (d)
(H G i) o (iv) (i)
(2 @) @Gv) (i) (i)
)  Gv) @) (D) (i)
@ (1) (i) (iv) (i)

47. Match the following
List—I List—II
(a) Cuboid (i) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod &8 =g Tokod
erde—I >de—II

(@) &g Hodo (i) WS (do
(b) %50 (i) $yso
(c) A*<Fdm (iii) (Beezbo
(d) %o0%d (iv) 6gS&8(do

(a) (b) (© (d)
1 @ (v) () (i)
2)  (@Gv) (i) (i) (i)
(3) (i) (1) (iv) (i)
@ G ) (@) (iv)
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48. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the

original rectangle in cm is

o8 5%5@06[{00 Vo) PEH 4 cm SHod Jdooyd 3 cm 2oV Ddg&é
BSE(D BTogo, BEISHY(D ITogos DHrEHHE08. ey HYISE (DY oo
Fod Do.dos®

(1) 46 (2) 48 (3) 50 ) 52

49. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of

the metal, what was the weight of the original plate in grams ?

oo wE SR THA Todo v grrroam E80owrds. 80A a8 i grmrdy DHrd
PP G W) dNE oo EBJowrdd. (D8 VI dng) W) Ko 20 (. «d&
$S Bogo 7 TEH S0 o0 $0B, wdd 8005 IndE TEH &) (M.08° Jod?

(1) 140 (2) 160 (3) 210 (4) 240

50. Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as

2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.25 $26050 4.3 %0.90 J&yo, 2.5 &) ord8 2.1 200.20 ep’rwsb"’go OO &)
Tods S*ErY FoHHodr E0A0D af FFom HOTH. © A¥Y Tgod» Wo.Ned®

(1) 42 (2) 4.5 (3) 48 @) 5
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(a) Any two similar figures are equal

51. Consider the following statements

(b) Two circles with radii 4 cm and 5 cms are similar

(c¢) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

S (808 (DdVrodo H0RD0F0d

(@) O Todk JEFH DerBIT DIFI0M GoLroN

(b) 4 =vo.o FogIrgHn D00 5 0.0 Frgrdan fo Tods HyEmes ddrares

(€) SSoG(dHooe, D BB edn DIrTrws

(d) 3 o.ve hHaedn do K;Eboaﬂéro (Bghedn, 4 oo ghadn do vHoerHeo
(82028 DEr DD

D (DIVI0ST QB/DD DTI6?

(1) (a) L0005 (c) (2) (b) H0003%0 (d)

(3) (a), (b) L0005 (c) (4) (a) 28,8

52. Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (ii1)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

Bod &8 wdErENod

(a) $05roSDD (i) oo

(b) BFA>d ordrdoed (i) BdE rdd ed oo

(c) 208 (ill) dogrg a0 9d»

(d) edgafe (Iv) 20&05s FBRES adPwrgd

@ B (© @
(M Gv) @) @ >0
2 @)  Gv) @) ()
) Gi) G - Gv) ()
@ O @) G ()
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16
53. What is the value of (x+16) * if
(i) x#-16, and (i) x? + 32x = 320
16
() x # —16, $200%0 (ii) x> + 32x = 320 wond (XJFT)Z Qeud Jod?
) 36 2 o 3 H
1 ()576 ()320 ()36

54. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

2 8F SSYDY ITogo 60 ISEH Brdyr. T FED, Ideojod HED
6 0‘535;50@0 D00 asn 2 0arrdén é({?fg ¥ 2 FLIXHYHS08H. @D PR & BSG(DY
BTogdn (SSEY BrdLS)

(1) 4 2) 9 3) 16 (4) 36

55. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(¢) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?
(1) (a) and (b) (2) (a) and (c)
(3) (a), (b) and (c) (4) Only (b)
Bod 3 (DIBI o $H0300B0&

(a) ss¥os® Bordogdy Dod DES &0d, Frdond af Q& wod VI
Gotood

(b) of 0% ©8 DI dd © (FosH g gL oS HEKS00
(€) odrardg T drdgds, Sodods Frds BEE I wowrd
2O @l (PHIToS D6/DD $TI?

(1) (a) $5605% (b) (2) (a) $5605% (c)

(3) (a), (b) $:805» (c) 4) (b) 28,8
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56. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) £2080%» (0,3)eo %?@OW GJ)  wghE ITego (B8R B AeS®)
(1) 11 2) 14 3) 22 (4) 30

57. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)
a8 DIy hEdo Yrdvo FoHk HI) ¥sP80s® &30, Hrho Toogy @gdDH
8 Do, P Ho0d FoHd %go BoEy H&y 15 Q. Hodas» Qrno P&y 12 Q. Sndo
Hoae o) EHPOEH wIVIHIThHY STgS By STogo (5. 5.08%

(1) 144 & (2) 1161 (3) 9% n (4) 64
58. The next term of the sequence 1, 3, 4, 8, 15, 27, is

1, 3, 4, 8, 15, 27, ©H(EH0STD S8 Dowg

() 37 (2) 44 3) 50 (4) 55

59. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

S8 wdrjones P E00 af 9D ErdyT8. ovd8 dddo (HERS. Dol
H8& (DELD DD s0d. o3 HA (D& Fob w00, ooF8 T8 Doggd der woo.
es® ESOCASS@.S’S GI)O ADE?

(1) o3 (2) 308 (3) &er (4) oo

60. Fill in the blank :
PO Lrdotod
CG:HL:: KO:
(1) QV (2) PT (3) RV 4) VT

In each of the Questions 61—66, pick the odd number out (does not match).
61-66 $8& (H¥)os® S0F0 Qopgd Ho8owode.

61. (1) 282 (2) 364 (3) 4168 4) 6248
62. (1) 1285 (2) 2213 (3) 3074 4) 4172
63. (1) 1339 (2) 2665 (3) 3991 (4) 4223
64. (1) 11 (2) 246 (3) 327 (4) 464
65. (1) 5 2) 12 (3) 25 4) 36

66. (1) 81 (2) 441 (3) 529 4) 613
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In each of the Questions 67 to 72, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

67 $908 72 $3& o (B8 BT adyd Sopgwsr af EHo G IAETR) TSGR )00
28 (3% &) O @B S TI8 Fodo Eu&om adyd el PRYFL H08
$0T0% war o8 HrooKod. ‘

67. 5, 11, 28, 53, , 175, 296.

(1) 89 2) 123 (3) 126 4) 152
68. 7,6, 11, 13, 15, 20, 19, 27, 23,

(1) 27 (2) 34 (3) 36 4) 37
69. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
70. 21, , 55, 78, 105, 136.

(1) 36 2) 38 (3) 42 4) 45
71. 3, 7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
72. 24, 60, 120, 210, , 504, 720.

(1) 226 2) 306 (3) 336 4) 420

73.

In the Questions 73 to 77, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

73 $008& 77 $8%H adyd @%lees’s wod @forey 0w o 0bd éogpgw 1 Jo0& 26
DO, 2w Edo GFod ANV FED3T 0. (08 BH)S® @b PO, wdoEH D8
Foddw Lodom, ad)d ol ©d)Fe X008 H0THS I 98 YrooSod.

If VEDA’s birthday is on 22-5-41, then RAGA’s birthday is on

VEDA D& &% 22-5-41 wond, RAGA DY &%ez

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61
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74. 1f AZEV : FUJQ, then BYFU :

AZEV : FUJQ eo»$, wodypd> BYFU : .
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

75. If AKBAR : 15, then ANWAR : .
AKBAR : 15 ®oxn$, e—aiagocéo ANWAR : .
(1) 11 (2) 19 3) 17 4) 21

76. If ICET : 73, then HBDP :
ICET : 73 ®o»s, edyd> HBDP : )
(1) o4 2) 34 (3) 48 4) 54

77. If FACT : 54, then TAKE : .
FACT : 54 wons, @K)roéo TAKE :
(1) 35 (2) 46 (3) 68 (4) 82

In questions 78—82.
In a certain code of the word ‘SAINT’ is coded as 82147 and the word ‘MONKEY” as
364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1)) If no match is found use X

(i11) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

B oo 78 do0d 82 JIK.

¥ §°6S* ‘SAINT’ o3 Hdo 82147 b, ‘MONKEY’ oF Hdo 364950 b §°&

Do 83 B0l al)d RdSoR wErdomr THED Qfd oo §& (@ded ¢

(i) » 8633 VIS 0 0B, » 07D 9 o Iryod

(il) 200386 28 TEFS X %o
(iii) 3nEE ©@o0E ‘00 ®ond o &;Pzéoé”s 1 %0&

(iv) BodE H005n DHO0 woBoy, LI)FE 2 52 IT JDHrSHn wond Dopgew
wond, BodE @03 §&I 2 HrdHod

78. The code for the word INMATES is
INMATES o3 $do By §&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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The code for the word YESTERDAY is
YESTERDAY o3 $do mé& §5&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

80.

The code for the word STALKINGS is
STALKINGS o3 %o [SSEREpE §&
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

81.

The code for the word MONASTERY is
MONASTERY o3 $do BEy S
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

82.

The code for the word ASTEROIDS is
ASTEROIDS o3 $&o aooézr §%&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8

83.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Irerdd 578 70 8o/do BH0& FwdB (98 Tods dowesr 10 8d/do Fmrdy
00008, & 58 360 8.9 Eror) (DOSrBodwE8 X)?g DHo0s00

(1) 4 Koveo 20 Jdoreo (2) 4 Koo 30 Jored

3) 4 Kobveo 40 Jdoareo (4) 4 Kovo 50 Joareo

84.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 28 D8 T, a8 Yo A 508 T &g gdopomr 8 4 vo.dves 69,
éo@@ HBY § 8z VIrodSomr 3 Do.dwo 6O Eéo@@ 8 &g g o 2 200.o0o0
6O, 8060 HAIY §x vdroglom 2 0. 80 VHSmr Bobs & Sowomr
$62 Bd Jsood. SESRSIES Dda%é DOY) ITogHn (VLEY 0.00s%)

(1) 24 (2) 26 (3) 30 (4) 144
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85. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)
a8 $g8 SHadg 045 40 Q. SrdHo S&V, $I IED FH 90° 804 40 Qo SrEBw
Sy, WD YK SEed OIS 4042 Do, ErEDn &%, 88 (EoDoDI Dok,
SEE Hro DS DodhdHo gy Srdsm (.o

(1 0 (2) 60 3) 6042 (4) 8042

86. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)
af $g8 (808 adys 0% es® SdoId
(i) 8508y &4S® 60 .3 (i) SSoard 8o OFS® 80 Jo.; (iil) e DELE BFS® 120 Do
(iv) 85500 &8 8¥S® 30 Q. H20050 (V) wdodo S8 &3S* 60 Do. SBoFedho.
©d8 JEE (@E0DoDDd VoD, $dE Jro Bd DodHo DG g Brdnw (.05

(1) 30 (2) 50 (3) 60 4) 120

87. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 Hg§ Sy &%t 250 . ddoecho, DYk wEY &4 50 . INJeRETeR
OO P& DAEDIY OFS® 300 5. %%y, S50 LK (FEoDoDD Dok, I&E Wro
TS DodHo Doy SrEdw (W0

(1) 30 (2) 6042 (3) 10042 4) 5042

88. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m
ErdoSH whdopon ©d) HgE Srdy &y 30 e SdwE S§mo BN
40 .00 8D B DEHE BY 60 Q.o ST K. BodE DodoR) H00d wEBod
Erdos® sar kb (.08
(1) 50 (2) 60 3) 70 (4) 130
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89. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? ©3 @d(EH00S® S*DoDS Dowgdy EHA"BrH»
1) 35 ) 38 3) 39 4) 40

90. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? &3 @SSDLS’EéooeS*’EO SSoad Do §263§'52roc%
(1) 96542 (2) 65423 (3) 96543 (4) 65234

Read the following data and answer Questions 91, 92, and 93 :
Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod Seroddn 6 91, 92, 93 BHHoH 2aDIges :
Bndo 35 Hobd Z)cs"sgoeé% 16 008 (oW, 16 Ho0d DBy yEHw Hodds» 11 Hood
BooMy IS DIBIE 0T 8. 5 K8y (How Ho0iw Sewois Todar SSrol, 20S°
dafods Dody y¥o Erae B0 ©308 0T 8. 5 Kby Seoth 565“@530 IaEVICH)
A0, 8 Ho0d Dody yEo a’ar@%ﬁo BEFTTOJ @J08 00" 8.

91. Match the following :

List-I List-II
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit (i) 2
(b) All French, Sanskrit and Telugu (i) 1
(c) Only French and Telugu (ii1) 4
(d) Only Sanskrit and Telugu (iv) 3
Bod &8I =EHEB0s
A | eIl
(FPRO AVEe2) (Dmggoe Sowg)

(@) (oD Ho0dB» DodyyBo HrEHo i 2
(b) (oD, DoY) ¥o H0BH Sooid &9?53“ @) 1
(€) (oD H0n BeoMy Hr(EDBo (iii) 4
(d) %03y )d0 L0005n Bwad IrEHo (iv) 3

@ (b () (@
(H @iy  Gv)y @ >
(2 @G @ () (@(v)
() @Gv) i) () ()
@ @) @O @) (1)
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92. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
Bod ad)d (dITVTeS® A0 205782
(@) 10 06 Jargdooo 3 rhes® £3%0 Todoidar) WIdarodHotoa )8
(b) 5 ®o& Dwggoéo Sy rhodt D8 Eree Sdaredostido B
(c) 4 68 Z)wf’séo@o Qareedy PR @0 WEIR) B DIDEI0 0T 8
(d) 7 &% S)ngom (oD Jr-Eo FET0500T7) 8
1) (a) 2) (b) (3) (o) @ (d

93. Read the following statements :
(a) 30 students want to study at least one of the three languages
(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is
(1) (a) is correct but (b) and (c) are wrong
(2) (a), (b) and (c) all are correct
(3) (a) and (b) are correct but (c) is wrong
(4) (a) and (c) are correct but (b) is wrong
Bod (DdVrod WdH0s

(a) 30 o0& é’)msgoeno Loy rhod® €d%o 28 TPIZT WSO 0LIT")E
(b) 20 06 dargdood Hordois® 2.8) PR B o FET0B500T7) 8

(c) =188 dargdowd l?ooc“ozrge‘éo $2005» By ToBoB I (& BETORE0 I8
DO T0d foaérqrgzézéoo

(1) (a) 333 572 (b) H0dB» (c) DO

(2) (a), (b) L0050 (c) Hords DTS

(3) (a) %5008 (b) vBIT 520 (c) Lo

(4) (a) $0080 (c) HBIV 520 (b) Do
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The number in the figures in Questions 94, 95 follow a pattern. Find the number in
the place marked (?).

Bod adyd 94, 95 PH o DedoS® Jopgwr af ERDIBS® eI on. () DES Te STy
Sowg 5260553_059.

313 7158 5141 2189
9. 1715 3|40 419 539
(1) 9 ) 8 3) 7 4) 6
418 612 1236 2120
95. 1212 213 3] 4 205
(1) 16 ) 8 3) 10 “) 2

96. A silver cuboid of dimensions 5.5 cms X 5 cm X 4.2 cms is melted to form circular coins
of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver

metal is (Take m = 22/7)

5.5cms X 5cm x 4.2 cms §Poden o ¥ Jod ég HorQ) $d6how 1.75 cms TGO H0
$005» 4mm  Hr085» o HyEsE FBed SArEH VI, wdypd FTod Storo
08 $05r38 B Doy (M =227 ©d 3%08048)

(1) 120 (2) 80 (3) 60 4) 12

97. A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

&¢ LS8 50 S® &) w8 PFodn Vo) Jdooy, FEon 4 15 D&Qé’};é‘s o).

& PODR W) Vo) ardey) o) 20 m E5H) dae @élﬁs, @ PoN0 V) wWoko
Fod D.oS°

(1) 240 (2) 300 (3) 360 (4) 540

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 98, 99 and 100.

Bod ad)d Sednod® Yopsws af EHDFES” aam)on. ¢ SIrT YN GHTraoD, Hw
98, 99, 100os® (?) e Ste 26?37) Sowgde §260§83,oc%.

1 3 A
3—(j:}—5 1—(1:}—3 6-(2d)2
3
4

8

98. 6 3

2
(1) 26 2) 28 (3) 30 4) 32

IS 2016 A 24 G



.

FRESHERS NOW

99 @
iy
5
(1) 3 (2) 4 3) 5 4) 6
100. 12
% @ 12
@
3 I
(1) 2 ® 3 ¢ 5 @) 1

101. Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTO DdBeaen hoohod

(a) ©0hdpod odn DITWBE .

(b) %9 DogorBIdne Hob wdhTpod F (Edn &S38 el

() @0hdpod © Tpwr DIFoSEHd w0l F (Fdn 2868S° oo
(d) 2568 wohodpod F($dn J8g8e Fdb.

(1) (@) () 2) (@, (), (d) () (@), (b), () (4) (b). (0

102. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic
&z (80 Q T8 QSO"&DQV, @Ségéw@ef’ o Sarod @@é’,)oé)oé WATEE QDO §é:>§°2r3
BTrHdnS® & dEed?

(1) S8 (2) &g d» (3) dg& (4) ©dsdyod
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103. Identify the correct statements

(@)
(b)

(©

(d)
(M

.

FRESHERS NOW

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse

mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse

mechanical waves.

Electromagnetic waves are transverse waves.
(a), (b) only

DTS VdBeaen hdohod

B8 Sdomor H0dn w8EIY Eomrer wNBJe dBro@F ddomon.
3¢V Edomrer ©¥BEg Bro@F Edomor HHOWBn Jdgadddodrypod SGomes

(@)
(b)

(c)

(d)
(1

@655 5o (B8 EJomred.

(2) (a), (b),(c)only (3) (a),(d)only

(4) (a)only

330 Sdomen @éoggg dBro (88 Eomer HO0W» w8 $g0 Somed @655

aSro (88 SSonro.

Vg aoy 08 Somew ‘e’BCSSg SEomen.
(2) (a), (b), (c) & (B

(), (b) (&

(3) (@), (d) &r(ES  (4) (a) Sr(ED

104. Match the following :

List-1 List-11
(a) Mercury thermometer (1) —200 °C to 1600 °C
(b) Platinum Resistance thermometer (i1) =200 °C to 500 °C
(¢) Thermocouple thermometer (i11) —200 °C to 1200 °C
(d) Constant Volume Hydrogen gas thermometer (iv) =30 °Cto 350 °C
(Bod o8 2EHILob :
-1 ko B |
(a) D8y g0 e (AE SrHEd0 (i) —200°C So0& 1600 °C 8%
(b) PS50 JE°EE sF S SrHEB» (i) —200 °C %00& 500 °C 388
(€) &Q Bndydn e (HE SrdEb» (ii1) — 200 °C Lo0& 1200 °C $8%
(d) P8 DodDdoDIre (@RS drosnd) (iv) —30°C %50& 350 °C 8%
STHE SrdEd0
@@ () ( @
I O aG) (@Gv) (i)
() ) @) Gv) @)
(@) i) (Gv) () @)
@ Gv) () @@ (D)
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(1) Fe* 2) Cr* (3) Co* 4) Mg*

105. Metal ion present in Vitamin B, is

BTN BlzeS'% Bo S*H wosrs

106. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

(@95 @aEom &) HOdn addddo &I @by (88005 BBros® gy 200l
B I8 s°8w0

() 58S 2) $r® () 3&*=S ©3)6w (4)  BS

107. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod aSS® rOTHE b 26?2

(1) B88& (2) 063 (3) Bors-6.6 4) ®OS

108. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bo& aES® HOTHD AHSmen 570 TG HOoLod.

(a) o8 edo ¥ HBrodwP§

(b) §°6Ho»Is°S ¥ dSrod TWr@§

(€) %ETE a8 Bro&8HE*Dd5HS

(d) OS2 (wro8g B=d

(1) (a), (b), (d) (2) (a),(c), (d) (3) (a),(b),(c) 4 (b), (c), (d)
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(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.
(¢) Programmed cell death is known as ‘apoptosis’.

(1) (a) and (b) are correct (2) (b)and (c) are correct
(3) Only (a) correct (4) All (a), (b), (c) are correct

109. Read the following statements

& (800 (DdVTrod wEgohdo Bohod

(2) JErod® HoFuEHTHY 528" ) e ([@heo TnE), add rmod Ty ogoe FTroE8em0

Bodseon
(b) HIsdoTBreg DNA S BodS DNA «d $re wodrdd
(c) (Berds Fomr Swrow BIFIEI) ‘oPDEPDRT woirdd
(1) (a) $0050 (b) HOTHID (2) (b) H0005» () HOTHIHD

(3) (a) $(EH HOTHHE @) (a), (b), (¢) &dy BETHSD

110. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood

(4) Adrenal medullary hormones increase the B.P. and heart beat

D@ Do 0HoW & (S0d (DIWTTOH ©Egado TR DO I %8050
(1) AAIS (Hos 1 Jerard) IE'ES J6°Q100

(2) HErdo o DoPDIT H$2)D0

() dEEido Sy SEos® ‘CO’ HosHrmo 0A O, H0drmo &Hodo

(4) ABIS SHgH* & dow0 8 DETD), 10T FEI Ty Dowosron
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111. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Iy Eero O QA2

(1) (98 dgscol Ddadozﬁoéa (2) (BDge Qog
(3) (@S0 dog (4) >¥FBSRS

112. Which one of the following is not correctly matched ?

(M
)

Vitamin B, — Beriberi (2) Vitamin B, — Pellagra

Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia

&5 (800 udoS® DO HOTHIO 5°%

(M
3)

QoS B, — BOBS (2) doNS B, — Do
QoS B — «5d Lodhowdo (4) DeNd Blz—jcoéfooﬁoi 6_s’fé3'°26e§

113. Read the following statements

(a)

(b)
(©
(1
2
3)
(4)

Acid rain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

The farthest atmospheric layer is thermosphere.
Western Himalayas are biodiversity ‘hotspots’.
(a) is correct but (b) and (c) are wrong
(a) and (c) are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong

All (a), (b), (c) are correct

s (800 (DHVTrod eggaihdo Enfevelele)

(a)

(b)
(c)
(M
2
3)
“4)

THE00S bo36 Bu3 & (80, $r805 SE°2s Bw3 & (NO) mds™
V8 wedHos® BEg BohdR&kd e Eég"@o’ Er803°0%.

wdgod drdom &oB >odde c:;SSng?o(Qoﬁos

DB D0 rIrodires HBTIS WEFYE oo

(a) 20030586 520 (b) H0bw (€) DOTHID 57w

(a) $50B0 (€) H0030JD 570 (b) LOTNIE s

(b) H5035» (€) HO0NID 570 (a) VOIS 570

(a), (b), (c) @i)l 00005
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114. Match the following

List-I List-11

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (ii) Global warming

(c) Freons (iii)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
&8s (800 8 wSEDHIWos

el Ak | |

(a) DTS (i) =°5-9 2o&&o

(b) FoyEen (i) §° & 0308

(c) (9browd (ii1) fodfoo()@@% S00228 (bloom) Ddac‘ée)o
(d) &*B&Ee (iv) &8 o0&

(V) &S oo
The correct answer is

BOTHS BEFFHo

(@ (b (© @
() @Gv) @) (v) (i)
(2 Gy @i (v) (@)
(G) @) @) (v)  (@(1v)
@ v > (v O

115. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0GP, DD BTSN DoV PO wFairdergod OANI) Trarge HOORD (&

(1) &8, oo, Hdtorhy (2) EomyvE, Hgg(HTE, ocadrs
3) éo@ﬁg@?ﬁ%, HFPorR 9, STk (4) o 0F, eFyo, EéoQSgLXac_s%

116. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D0EQDI, @do %5@26 Terd8en Hrd o S (8od dFon Do
(1) & S (2) 8388 (3) &*8 & (4) woy DS
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117. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is
(1) (a) and (c) (2) (b)only (3) (c)only (4) (a)and (d)
& (300 T5gos® JB/AD EHY?
() PSS DoISY (Der®s sPod» — 1951-1956
(b) HorEd DoIHg (D@5 stodH — 1966-1971
() «85 DoIIE (DerPs° sPodn — 1980-1985
(d) D85 Do (Derrds P — 2002-2007
DB Ddrerddw
(1) (a) 005 (c) 2) (b) & 3) (o) drEa (4) (a) 00k (d)

118. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©08 K000 IRl (PP WOT T d WHTS FoDET S
(lj Told erder (2) g9y =de

3) &éogc% e (4) @339 wfs oo

119. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® ety TGO H080BE0S® BIHD (EHooS® (AhHD 00d) HodkoT o9 ©00
000 0d

(1) &d3HTTF, Hoerd H005» éo@ﬁg@)é%

(2) sSIHTT, 250(}55@(_5% Ho0B» DR HBomrd
(3) Hoerd, sSSHTT $005» Boomrn

(4) $5g(2TF, Doerd $005» DR HBomrd
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120. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15

& 0% BELHVY DOVE AHOWID sPoos® U"a’PSO(‘ﬁoé’BD o @8EdH dDok Enfessteatelc
Qend '

(1) ©g&S 32 2) ©g¥s 21 (3) ©g¥S 19 4) ©g¥S 15

121. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (i1) Adilabad
(c) Lower Manair Dam (iii) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
2B DILodn

eI eIl
(a) ofen  od H09Hody dE¥o (1) %803%K6
(b) &oro >H6 @ (i) odoersd
(c) &°0%86 $36 @& (iil) $o&> S5HKE
(d) £Bo dzorg0id (iv) Qderdrerd

(a) (b) (c) (d)
O (i) (i) (iv)
2 G Gy @) (i)
G (v @) (i) (1)
4 @ - Gv) (i) (1)

122. Consider the following
(1) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009
(ii1) Right to Education Act assured free and compulsory education to the children between

years 6-14
Which of the statements given above is/are correct ?
(1) (i) and (i1) (2) (i1) and (iii) (3) (i) and (iii) (4) (1), (i1) and (iii)

(Bod aseged HORDOUWHM

() Qdarg &) FHo I8¢l (FENE THyr (HESoVod

(i) Jarg Ky wEwo 2009 éoéégdéweﬁ WO oTE

(iii) 6-14 JodSyoros® &Y DEo0E0E &DE HI0A5W DEyod Disg azrgod darg
8y WHo (DEBoW0d

D orged® 20/20 D3I

(1) (1) 00080 (ii) (2) (i1) H080% (iii)

(3) (1) S000% (iii) (4) (1), (i) Hodasw (iii)
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123. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) S5 years (3) 6years (4) 7years
DTRAXwe0 grdd ;EDE0 8K Sy BAwLH H00& PrEETHoS® V) DodEYEHDeo
AXVOV GodDHSL.
(1) 3 Jod&yore (2) 5 JodEyoren (3) 6 DodByoren (4) T DodEyored

124. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘B VYO H0EB FEoeH ) 0°R90 w(dds Wl DFLod (HTIWLod. T (derS

©ggo QD¢3?

(1) &8 (9T ©d Dood S§oNies &r. 200 §°9k Sewronodod

(2) ogg B3F 1 el DooH Qoo, @HPoTY) VHErEydo

() ouPs D o8 Deod DE§Eom JED OIS 65 (Hehdg wd (e
@335§or¥° V030% &S &sodroo :QO""D@,JO

4) Soogd D o) (HhEg sd($ed® (HBgEom D030 &I oo dor)ho

125. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (¢)

D B0 0f Ty e ©9)BE &°§ (IPAB) sy (95760 B3I H Bodd 2TrdHES
aoéé%&SQ 6&%89 (GIR) e D0Y w08 DodgosH 2TBHES 208TLS oo
%00 H0El0 FHod. & I»E FrESTIoS D 7 orErgo & H80H

8od S8S® 6 Jeo

(a) & Do o9 ©0 ForH0 Hoa s (rodod® o)

(b) & Ak Trargen WHrOBTrY Fore Tod o)

(c) & ko ST ISN S SET¥oS D Cw_ﬁ;é—éﬂ“:égoé’s o)

(d) & Ao oraPgeo S8 o rEETIoS” So)

(1) (a) $(&F> 2) (b) $=$F  (3) (a) 526050 (d) (4) (a) $26052 (c)
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126. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RO wgof vd RS YrEgH) W&

() ©8% ergo§ &% zo&dir (2) wo%BHS ergof ©d zo&dsr
(3) &I wrgof ef zobdsr (4) &Q m0&asr wrgol

127. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI eG@rh HIV B0

(1) QIS ag Borgd $6 BEIES asIRTAD
(2) SHUIS asESs ()98 & w08V D)

() D85S asyBergd $6 (@rS3y 0300 @oddsr
4) JadS 2000BI) B9Voh ad)yBergd

128. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
S (0 PIJYSd» (8od T8S° TI8 Yo 0{oDDO
(1) wdHo 08 (2) D/FHo DO
(3) (Do FOHGg0 (4) (o SgHESe

129. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bod =8 BIMARU ovh90 5200
(1) H%%6 (2) Dogsg (535 (3) dB)H BWorrd  (4) oreIeS
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130. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

wdogd Do Qobvd (fogoH afga 20050 3 §°0B ward 2016 HoIEYEINIEH IH08
©HoV0d? & PIEo DT .

(1) $0& Goed — & 3§ Grgos : & BEO TAD ©h 80805r 1A
(2) S*&*S B36) — 6 @D BIody

3) dhod Eér?gjoﬁoﬁs — @ g &JTLK%J s & 98 uH & «6R'S

(4) 50 o3I, — Q) vo& Bryoe ad Mowd

131. ‘Jorwe’ culture belongs to

(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) TIronage
TG 000 )8 & 500N TobI
(1) e3> dsnio (2) Yy &3wr dSwio
(3) Hogg o°@ dswio (4) x%068%5> oswio
132. Match the following
List-I List-IT

(a) Bagor (1) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
& (808 TPAD wEDHG WL

AR | Rt U |
(a) &6 (i) oads
(b) ®ohod (i) ozor&
() & &y (i) Soi8g Bk
(d) boron 3586 o°d (iv) egs (935

@ @® © @
M @O G 3§D Gv)
@ O Gv) (@) (D)
G) @) @ Gv) ()
@ Gv) @) @G @
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133. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) Rajan occurs many times in Rigveda
EHTZEL0ILH Do 060D & (800 TS @ (DBPEH D P WD &od :
(1) "$g50" 9000 SHTgSH0 06700
(2) wrdvEgH” H00D STEHD WG Y I T
(3) DY %000 SHTgEIH @800
(4) ‘oras oo DD HTgEHe Tor Horgdsisner DE08

134. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?
(1) Elephant (2) Lion (3) Tiger (4) Rhino
oot $stS? oo )BD DD Hoos DS QD 2osD oy BEY BB ?

(1) Qdoctd
(3) D&

(2) Dodrdw
(4) ESoyidm

135. Match the following

List-1 List-11
(a) Kosala (1) Vaishali
(b) Licchavi (i1)) Kausambi
(c) Vatsa (iii) Viratanagara
(d) Matsya (iv) Sravasti
& (808 T°IQ wSEDHG WL

eI R Aar I |
(a) §*%o (i) 3#d
(b) OBy (i) §°z~0d
(c) &) (iii) DoreH KB
(d) Do&yg (iv) L@%“a?g

@ () (© (@
(D Gv) @) (1) (i)
2 @i @) (Gv) @
3 O @) G (v)

“4)

() (@Gv) (@) (i)

136. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana  (c) Pataliputra (d) Vaishali

&5 (B0 adg &Y F°¢ Doo HITBIHoer wOAD (HTFBooL (¥ Dopgs® (TooknHm.
(@) ocedyi () Sodosso () FediyS (d) 370

(1) (@), (b), (c), (d) (2) (b), (), (c), (d)

3)

(d), (¢), (b), (2)

4) (@), (d), (), (b)
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137. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
©dTH90 (H5SEn ‘Trago’ Bh wolined &8 Gowod. & (800 IS IO HOTHOO
(1) TP, WHTEL, BIDG, do%ﬁ §%%, o Hodsw S8y
(2) g, wIDE, o8, 8%, Sod (g Ho0dBw (Y
(3) Jrgo, wdrdg, BIDE, Ko, §%%, S0 Ho00%0 Do
(4) g, vwdrdg, e, S8, §%%, So& Hr0Bw Do

138. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai

&3 (808 a70S° @ (fofo SN (rod BOST HOKHB0E Bo&ob.

(1) 8808585 (2) 3¥HHds*8o (3) SodBrd (4) $o83T09B
139. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka

(3) Varahamihira — Brihatsamhita

(4) Bhaskara — Panchasiddantika

&3 (800 7S° DB DOTHD eI

(1) osgaféo — @652;56‘5’050

(2) ( SrtoRndo — SodsdgE

(3) SETTuSE — ) &doT

(4) =080 — éodi’oc@?o@é

140. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 Wégéoa@é’s D0 20TH0H 57

(D @wdg Sergododo sﬁooﬁoﬁré zB""CS:éoéBSoo:éoCSo HI°¢ g ¥ (omoé PO (DT 0B
3%305260

2) 33@3053 SPE0 HrG8AdTd 23“’65263&533260653 [essatetnite] cocvoé 3*0@3&?0530263 PO LR TORR NG
3) @65 8@6@3 0005 oé@n@éacéa QoG8R d 23"’&326336%20 é?ég&bé @woé @vo@cs"oﬁséwzé)
WdwoDoVI Y °

(4) 08 THck HdBw zlSO@Sé@ PRVPOLTON VRIS a'f’éﬁéoé:éoaé*’fb [essalartvite] (ow’oé PO (ST OR0 D
wdwodoVI 8
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141. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT THI s @) BHYpHBY GO werd 8?2

(1) wroys (2) wgrsbdS 9O

(3) 0Tyl A SodE (4) 98 ar S48

142. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15%
centuries brought deep changes in the political and religious fabric.

Reason (R) : il;%ley came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BEFSS (A) : 14 $005» 15 For dwod® =Tl PESTE D FSoHeo CSS’&S

(OB D058 oSS0 Eée), &8 @"oé o805 P08 H Bodnost
S*BS drdoyes %0 DODT0%.

¥dn (R) @ &5 oaéelb’%?)a 8 é)@@o 0050 &0 Hdf Soddir@od Trgas go
FBoeE vrd FoHes & (Fooed é%gméﬁo

DTS00

(1) (A) $8050 (R) dzo (R), (A) £ 08305 958

(2) (A) %0605 (R) Todkr dwo 523 (R), (A) & HOTHS dTe 575

(3) (A) Q=0 = (R) Dy

4) (A) 5y 5 (R) Qo

143. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
PEFES (A) K)ocﬁgo By Lo0ddn ©doysteb: 55@ SHSo? SISy %55 ?‘D@
A0 HoTDo.

s8ed» (R) @ ooe ééS é)@ (Do V) IBE D080 HNE (DI Hn D) éaé
30533&33 L@oﬁo@loﬁéo
DIrerdo

(1) (A) $8050 (R) dzo (A) % (R) 900308 2536

(2) (A) 0050 (R) dzo 520 (A) & (R) D000 ddH8er 500
(3) (A) Qzo 9 (R) oy

(4) (A) 85y 57 (R) dzo
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144. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to
(1) Poligar System of Vijayanagaras
(2) Igta System of Delhi Sultanate
(3) Jagir System of Mughals
(4) Izara System of Mughals

Frined Foo B, wdghEomr oo FEO 0T Do) Hirer TV wETEH aB) TES
Ir20f DEHEn D DL O 0b.

(1) D20Hd48 cere sPood ‘B HgOD
(2) 89 erde steoTE ase AgEdHn ?
(3) Bwdove soomd ‘@b SgHY
(4) Boudooo scwocE RT® JFTH0

145. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills

in 1919
(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) GS. Kaparde

1919 “ooéégéo@’s T0é Do és@ééow’ BPron THI0EO Hod TrdTrd BRI
rEBon Belgdh D97

(1) €& & &rs i (2) B.D. %&S

(3) M.R. w0586 (4) GS. =53

146. The following states share border with Uttar Pradesh

(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is

(1) (a), (b), (c) and (d) (2) (b), (¢) and (d)

(3) (a)and (d) (4) (a)and(c)

(Bod aAS° &8 (HTIE HOTE o orErgen D 2

(a) boerd (b) oS (c) w8596 (d) ergod
[SESESERSESSLIapbaYel

(1) (a), (b), (c) S08030 (d) (2) (b), (c) L0003 (d)

(3) (a) $2803%m (d) (4) (a) S080%» (c)

147. The state having largest area of forest cover in India is

(1) Madhya Pradesh (2) Assam

(3) Arunachal Pradesh (4) Haryana
PEETHoS® 0dghE Yo wdHe fo o°H9o

(1) $gg (9385 (2) oyo

(3) w&erISS (HTF (4) Soovgd

IS 2016 A 39 G



.

FRESHERS NOW

A

148. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
2B HB0IHd0
-1 ras-I1
(T°F9o0) (P8%gowa)
(@) SFrds () HoHPorhg, Eor 0, @), wo(§ (DTS
(b) (8D (i) FEIXS, Hogg (535, wdr) @0k ?%&5, e orgd Hodan O‘°23<§'°S
(c) Hoerd (iii) orBF, w0

(d) B8worre (iv) 38¢ $o0050 Eoo 0¥
The correct answer is
ISHSPSIERSEESLIaRINPIRY
(a) (b) (c) (d)
(H avy @) (1) (1)
@2 O (i) i) o (v)
(3)  (v) (i) (1) (i1)
(CORNC) (i)  (@v) (i)

149. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
od (DHVIJ0e0 WdoRdw
(@) &% H0de WEHL VodIrS H0B» Wb bHod® EIFow
(b) SorsreoD wdHeo 8008 SToden Hdan STer S HEHre D8P (@rodod® EJ 0w
(c) S8 erdETHo 0w TIreddh [Foered® HEgE (Fod wdHooTryon
(d) e 88 wdHoo gy F8ETFoS® s on
Which of the above is wrong answer ?
K @3511526509@@5‘5 Q8 EDy
1) @ 2) (b) (3) © “4) (@
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150. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

BB8I&S (A) & 1921 marer BEo DESH 508 PrEETF0S’ 08 B(HoBod wIYe
5)8 $BrBL6.
s8odw (R) @ 1921 voddy8o d&hard S THoS® Lodero Téo (doom ghodb.

DTS DIrEIdw
(1) (A) $0805%0 (R) @ Bods dzo H0d50 (A) 8 (R) D000 258

(2) (A) D0005» (R) o0 Bodkr Jdz0 570 (A) 8§ (R) D000 dHer 5o
(3) (A) d=o (R) gDy
4) (A) 85y (R) dzo

151. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

SHE &HDITO Bdd @ BTY/([@oTed) KT 0w ?

(1) B8% &do (2) §*8Ho0sS o
(3) WSS (HTF (4) D536

152. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
EEFES (A) : 8 és‘é§®ao@s DEBE BY (DIW0B IBedH Byreo BEY
s8od» (R) @ & e oo eo(@d wdgarod BrdsED).
DTS JIrgrddo ¢
(1) (A) $50050 (R) Bodko dzo H500d%0 (A) 8 (R) 00T A8

(2) (A) 0050 (R) Todd dezzo 570 (A) 8 (R) D000 2dHTer 500
(3) (A) dzo 52 (R) 8oy
4) (A) &5y 5 (R) deo
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153. Match the following

List-1 List-11
(a) Banihal pass (1) Jammu & Kashmir
(b) Rohtang pass (i1)) Himachal Pradesh
(c) Niti pass (ii1) Uttarakhand
(d) Nathu La pass (iv) Sikkim
& (808 TPIQ wSEDHG WK
-1 ds-I1
(a) D& IO (1) =0y & 51%&5
(b) &*&B0h D (i) eSS (93T
(c) D& &5 (iii) sSoepob
(d) Soer 0 (iv) 280

Correct answer is
ISYSISERSE TSl

(@ () () (@
(1) Gv) @) G (1)
2 @ a) (@) (@)
() Gv) (@) @@ (D)
@ O @) (@Gv) (i)

154. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

B8IES (A) 1 PrdETHS Y §'SEe, HwoBow 0L BI) &d THOH e &by
FHE (Frozrod® @°8@°3b§ @°o®°®o SUARIARNAIS Nl

s¥od0 (R) @ & &d THoo % P0E (roerod® 0DoBd Hnd HEHod Podw 8
$0080 (HHoW $rT) Lol T8 wdopHm sI)ow.
(1) (A) $0805%0 (R) @ Bods dzo H0d50 (A) 8 (R) 00005 258

(2) (A) 50050 (R) @ Todr Jzzo 570 (A) 8 (R) 200305 Qe 5°¢5
(3) (A) Q=0 = (R) Dy
(4) (A) 85y 52 (R) d=o
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155. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1) Odisha
(c) Lead-zinc (ii1) Rajasthan
(d) Asbestos (iv) Telangana
RS HSaWoHR
eI R leas |
(a) S0 (1) g (535
(b) I35 (i) &)
(c) 2OH0-2o0§ (111) cr°23§"°5
(d) eI (iv) Swomre

@ (b  (© @
@ @ ) (1v)
2 @Gv) i) (D) (1)
3 @ (i) (i) - (iv)
@  aGv G ) 3

156. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b),(c)and (d)
(3) (b)and (c) (4) (a)only
Bod TS DO HrdD (PB0E @9§ sedgSuraro SEHB8 Toh&od?
(a) Sore (b) ESorgdTA L (0) ddoo (g0  (d) HgdIras0
[SESESERSESSLIapbaYe)
(1) (c) S00030 (d) (2) (b), (c) L0603 (d)
(3) (b) L00605x (c) 4) (a) d-(&o
157. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and(c) (2) (a),(b)and (c)
(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod adS® T 00d (Derdom HE Sod ©hotdn?

() VEory8 vHeoo Ho JVEST0E wdHed

(b) Bder 8 sHes o sHoBy wdHes

() 28850 FyomrsedY wdHod

(d) 20 3 v578Y vHor fo wHoBY) wdHoo

DTS e o

(1) (a) Ho8052 (c) (2) (a), (b) 00050 (c)

(3) (a) H006032 (b) (4) (a), (b), (c) S0 (d)
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158. Consider the following crops

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and(b) (2) (b)and (c)
(3) (a), (b)and (c) (4) (b, (c) and (d)
(Bod Hobodn HOBO0BIHN
(a) & (b) SEo¥5H (c) &ddgo (d) A*odoen
D 58S D p8H Hovew
(1) (a) Ho6050 (b) (2) (b) 00052 (c)
(3) (a), (b) &850 (c) (4) (b), (c) &2005% (d)
159. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
e8S I8 SSEMORIS 05;3%5 IEod 05 T S°s°(F0%0
(1) dzpdyn Is°(Faso (2) &S 570
(3) Sommrs I°se(F0d0 (4) FEED Ise(foso0

160. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bo& BYS @ BHen So@ rOS (FoED ©oEHre-I8° Fod® JHVHT)EH?
(1) ode° (2) Soodk (3) Dogd (4) =oea

161. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(Bod BS* I8 DgBY EE WAS o go 52
(D) 9:96’8615 8 e (2) g8 Q¥gHre (3) r8%go  (4) Do088880S &0

162. Read the following statements
(a) Infant mortality means the death of a child less than one year of age.
(b) lljnlf?ﬁlt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and(c) (2) (b)and(c) (3) (a)and (b) (4) (a), (b) and (c)
(808 (HHSd0e0 SHHD0

(@) 8% Sodwror wdm bodE o ProstHoars 3HY) dBosso

(b) 1000 zdzreod® D0BENF0S Y WITFod Do Dowg wgrdon 3 Moo Dopgdd
Vg 008>

(c) %ioo “2E0E0 &) T 3H HdwrodH s°EHo

D (DB I8I00" A8/DD Jeo?

(1) (a) $280%» (c) (2) (b) 08030 (¢)

(3) (a) $280%» (b) (4) (a), (b) S080%» (c)
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List-I List-I1
a) Golden Fibre Revolution (1) Fertilizer
b) Gray Revolution (i1) Onion
c) Pink Revolution (ii1) Petroleum products
d) Black Revolution (iv) Jute production
SR ASTSINSIY)
eI eIl
(@)  omdy SRSPIG) (1) Ao
(b) >&S ot o (i) &Qarddoen
(c) %oord Sods B0 (iii) oaLéS%@oSoo ERRT Y
(d) S0 9do (iv) s &8
| ((’sl)) ((b)) () (d)
i il il v
523 (iv) (D) giig éiii%
(3) (i) vy () (D)
4 (v) @) () (1)
164. Match the following
List-I List-1I
(a) Zamindari system (1) William Bentinck
b) Drain of wealth i1) Thomas Munro
c) Mahalwari system iii) Lord Cornwallis
d) Rythwari system iv) Dadabhai Naoroji
R SIS RSP
eI eIl
(a) zDoomd S (1) JO%& Boe3s
(b) (Dadrom Fdo FPHE0 (i) @t Do
(c) Sodrdard DES (iii) o8 576 ™0

8@56 @d@

(a) (b) © (@
(hy @) (v) (1) (i)
(2) (@ (@) (@) (@1v)
(3) (v) (i) (i) - (Q)
4) (i) @v) @) (1)

(iv) ororeron 3°6%=2

165.

Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals

(b) Better public transport facility

(c) Face identification system to catch criminals
Whlch of the above statements is/are correct ?
(1) (a)on

3) (a anc%, (b) only

Bod (HIBWJIdwen H03O0WrHw
100 @0l 0D Sdore’ =8 Sopg oF eron

(a) Dgosoo SO (rHE Ad%o(Eem EOA Godwo

(b) &SH50R0d Ls’)wcﬁa"sa @”éwgmoc‘éc‘bo

(c) 36&0@260 %$00F Do 00D HgHHBo EOA wodwo
L@ézﬁééwmé‘g 8/ Jwo?

(2) (a),(b)and (c)
(4) (b)and (c) only

(1) (a) dr(EDo
(3) (a) H2608% (b) (o

(2) (a), (b) H00030 (c)
(4) (b) 52005 (¢) &
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(a) The first hour of every parliament day is reserved for questions

166. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(¢) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(Bod (HOUWSDH0en Wehogbw

(@) (98 B> rdTood Bodd Hobd BHoho (DT B EEEH Twronod &od
(b) >dPowd Fopordres® grEdTs Jogn vdh)dn drdg oo (€8 @)
(€) 5°8gR8gwrE WIgo J°gas Vako(de DIre I7gaso B0d HVYI6
ISHSESIRSESSLIARMSRRY

(1) (a) dzo 52 (b) H205» (¢) @0 SDHy

(2) (a), (b) L0805 (c) @ @?5; de20

(3) (a), (b) H2803%2 (c) o &92’3; ED Yy

(4) (a) 0050 (c) @ EDy H08asw (b) deo

167. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a) and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
P8 Bo(0 §°F ‘Trgodh DWE ©55°od) KON od. T°gH Dg e@dm

(a) oQy f_mgsé@ @53(3@263 DG oo

(b) $00(8%008O VoD v oWEo

(€) 2°88 P98 VoH® adgdo

(d) 733 7p ¢BrooWS IGrew, 5°EgATZTE T ST oresegods %Sézéo Vgonotae
[SESESERSESSLI ARty

(1) (a) $2605%» (b) (2) (b) 08050 (c) (3) (d) Jr-&E0 (4) (c) 006050 (d)
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168. Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod S BT @ 26?2

() 2.8.08. = 6 I gH0 S BISSINTe Xab?g@ DHODD D000 S® ;Y e eo
(b) Dy sregdn . Bo(& 0"y Do ogren

(c) =0b0o° JHHD dregdn DB (9TH0S® HrwrFo TrEnp oo

(d) 8026 Doh aregdw : §QD‘°5€§® ESASEPASY

Correct answer is
DB DIrerddw
1 (@ (2) (b) 3) (© 4) (@

169. Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and(c) (3) (a)and(c) (4) (a), (b)and (c)
(Bob (DHTWJIdmen H08O0BorHW

(a) Boodses & aso RErgd Horon H0BH NErgd Sdo 00 S 1992 ?oo?éébds’)wé%
DO“’Q("‘AN Dok &od

(b) 658 orzrgod DITw @rgon BdE & 0% RErgS Horo HOBN W drgd Sdo
NS doeyee B &od

(€) 805 Wdrgd Horo HOXN WErgd Beo Loas IEE B[S . WS,

Xr’c‘éoéooééa
23 B @355265693@6“3 NI DTIO
(1) (a) $0005» (b) (2) (b) H080%2 (c)
(3) (a) $200%» () (4) (a), (b) S080%» (c)
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170. Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and (c) (3) (c)only (4) (a)and(d)

(Bob (DI Hmwen H0800Bod»m

‘@085 3567 (H5°80 a8 0°H 908" wEeHDY H0PBI 28 BodENSH MoD IR0 E

(a) & o°R90s® SH D 0P LTI © TmH Y %r8°6 DgroouS B

(b) U%@agoé”s F08 P (EEoo 9SDS® TI 05816 Agr8oWI Bl

(c) & T‘%jOQS’S @:‘ooéé A Eoo dEgWrouEo §§LI§JEO‘ d)Fo Dopoo c‘i)g"@oﬁéaséo

(d) Dg&o( HOFED T3> Bew0E™, °H90S” BDHOVSrIew FTII BT 00D TR 9D
bodyh BoEBBB '

D (D3T3 00S® DO/ Jeo?
(1) (a) s (2) (b) $2605» (c)
(3) (c) s (4) (a) ®20050 (d)

171. Read the following ) N ) ' )
Afrﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhevotes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (), (b) and (c) (4) (a)only

Bod (HHWSBdwen Wspww

¥ orez8ody ﬁﬂé § Toad 7705 Vg (Sob X)G?géoeé*‘ B3 30 VYPgegas eddadko
&,

(@) &5 3 L0088 WA HTSD P&

(b) &5 FEJ vgWyoSom HSO WEIH P

(€) 85 8 wbTpD 5% $g8TLom 03 DYS® ten IvIHyd Fo Dgrad

®ONID P&
D (D3TI300S° DB/ Jeo?
(1) (a) H00030 (b) (2) (b) %0605 (c)
(3) (a), (b) $0805%» (c) (4) (a) d(8D
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172. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BAFSS (A) @ THoS® &I8S° Ho @ 0°Q9 V0TI $T) whsdo FIFodh
e do.

b (R) @1 009 200 grod Ty Deodo BHoo orag VFS'T (DT DB S0,

Jdrerdo
(1) (A) $8050 (R) @ Todo dezo H005» (A) 8 (R) 180308 dd8es

(2) (A) 00050 (R) @ Bodr Jezo 570 (A) 8 (R) 00300 2588 5°¢h
(3) (A) =0 (R) 82y
4) (A) 85y (R) dzo

173. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b)and (c) are correct
(3) (a) and (c) are wrong but (b) is correct
(4) (a) and (b) are correct but (¢) is wrong

806 (DHST oD S wm

(@) oo grdd Hoghe I oFden rE T&Tsoﬁoé‘s DR om DEY TG

(b) w@oﬁr@égg $080 (DXDS rdE orargood® T

() FoD Cérgé?b o0 D008, oraryeo G D0 BWED I TIrA0WE HU)
DTS e

(1) (a) $00052 (c) dz=o 57 (b) SBy

(2) (a), (b) H006d%: () @0 Jde2o

(3) (a) H0005» () @ Dy 57 (b) 2By

(4) (a) $0050 (b) @ 2Dy 522 (¢) By

174. Conventional energy source is

(a) Solarenergy (b) Wind power (c) Bio-gas (d) Nuclear power
JPO(DP0H R0ED IIHE errddn

(a) dorsg 4§ (b) 955 48 () ®r-mrgd (d) weso %8

1 (@ (2) (b) 3) (© 4 (@)
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175. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
8 O"Xg?ééseeﬁ’f’ s*@&% 1%655263"@55 D0 oo Sozedh

(1) 3.2. A6 (2) AS. BoLd TG
(3) DG oY (4) ©5. ToZLordod

176. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development

1952 &° :'DCSQ&ES o TRnE)Rrory) 0@ HXNIH Do 0HoW B0 5V @ A6?
(1) w0 S woli — (Her8 Hgdn, (Derddoon

(2) do. V") BT — HgHIahoHn H8S0 (Dear®E

(3) &Ko Sord) Do — wodFohE HgdLtorw

(4) 4086 TS — DL $o005» (e SPEN)

177. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.

(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 228 H0d50S® 2005 Boorh grar D8 HHrBTI8 ©EgEE STl “31’0(“03_9@50(?’
DFero(F w8 PrHdm ad)BE HerFod.” ©d Trgargdodod.

(1) Som Josd Som TE (2) Tdo o IFronR)
(3) Sdrdare TrdodoosorD) (4) Hoododne S8yoHorD)

178. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?

(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji

(3) S. Nagappa (4) K. Rajamallu

1963 & 28BS D0LHTE (Hehdgdmds HgBTEL: “wo(F (Hghsgdm, Tho (Hghdgwm,
Tho 56%H 0w TEoT o orgarglood

(1) &8.93. {ocre)é& (2) Fow of & wrd

(3) 2. AD) (4) 3. ccedowd
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179. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation

o9 PI& dFwd ENHE D00l Trer Hod Trohen Tew 2RO VP00 (D5°EHW
“wd)0Tood wo(Forod (Fod08” TE & (FodHd rdorerd orhgdnn EORIT
@b @odomr S8 Td B0NIY rAoRd.”

(1) Jdogeren SS50 (2) SEAENA
(3) VYR8 (4) ©oddg H00H

180. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

S5 800 (HISIwoS® QB $TIE 5°%7?

(1) g Hododve 2dyoddn (H5Esn FIagdhhs® 28HS Th Jdbrisod) aaye
@%’%)&é?@ 2 Boros° 0.

(2) 2.4. To. 610 J Jdo B0 00908 Gt oge ®Hoeos® 228l G arddo
DOOE Boomre (DrodH wEHISS) @Fgoﬁoém@éo Jad0T Qo H0.

(3) & HH0RO 2HHodHN (HsTEDH0 TR Y 515538651’5'5 8 (oo wo(F-8vomrn
(Frozre T°08 $0(@ HEHoo 50 : 50 DL HBS® sozed.

(4) 1953 &° 88 (Dghdgdn aRd pud ©d JE)dgod® crRdne PIGT Fed
Do SHo D500 08.

181. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
e HBE Beoh (HBE 9B AdGET Sodd?

(1) sroocw 85846 oo (2) =388 Somordogon
(3) TBHODO crdrdeod) (4) ©3d wrdove
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182. Match the following

List-I List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1)) Munir Jamal
(c¢) Tenugu Vani (ii1) P.Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
& (808 TPAQ wSEDHGUWoL®

eI eIl
(a) ©&6 (i) Hr0d SHrscodord)
(b) B Svorrs (il) $0d86 2dHrS
(c) BdoKfo a°ed (i) ®. ==rgS BB
(d) Beos d¢ (iv) D, dEgaordsoem

(@ (b)) () (@
() @) @Gv) @) (1)
@ Gy @ (@v) (i)
) () @) Gv) (1)
@ @) G @ 3v)

183. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission

@Sé :ooozréeaéaaé% grriom 00dw (D0 a?goéa rddedH oo %903‘3(‘5) @Oo(&
L@Eﬁ% o°R9 (Dehdgo o°Ry S)dagzﬁz)é 25’2’63263 Hord Hopenm dgzoNod.

(1) &&38, DEHo° Hdabn Joymo

(2) &E38, DEHor Ho0B» Dowes

(3) =o ABgE, FFord VBogdy H0BH FE6 DSogdy
(4) DoRed, Joryeo B0 DIHo

184. Which one of the following statements is not correct regarding 1969 Telangana movement ?
(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Bowormrsn &dgHhindtHd Do 0hoD & (Sod @vééémeé"" NI DO ODIEL 5°¢5

(1) Sworre L@aa@o el (DOS0E 0P 9N 2PN OB go% Jowardy ¢ AB. rearon.

(2) Svorre (Dee L@*’o@oﬁa 030300 VTPORE (DBDY 0T S5 & (DBIESHD ©oNEd0NL:
C.C. Ta~om.

(3) FEP0S® Boomn (HFH00(8 O (HELID TP $0od Boomrn (Derddnd
05 8r0%0 :oo@&ow@ K. 585 83.

(4) (DerdDo0(®@ Boomm &dgdIINIEH orez 8 090 DO B DB s’zéagszré@oﬁoozéo :
K.L. Heade
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185. Match the following

List-I List-11
(a) Porakala Dora (i) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(c) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
&3 (808 TP BN Coosw
eI Rl |
(a) o &Y (1) #dddo Boé’@%sgo
(b) &g (i) %o @éa?oéo
(c) oo (i) BoIr)¥ o6 oo
(d) den& (iv) 80T Fo FSoowD

@ ® (© (@
(H @) Gv) (@O (i)
2 @) @ (>Gv) (i)
@) O aG) 3 (Gv)
@ (v) @) (O (i)

186. Match the following

List-I List-1I
(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i)  Electricity
(c¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
Ss (800 3R 2BNLodw
-1 eI
(@) o83  dSorg Ees (1) A58 Roew &555606 LIPS gdooa, Powdo
(b) Hof*dgrgas L (i) Dogsy 8
(c) 83 e8I ory) Eaoes (i) (dH&g Jod ?oofg@o
(d) Do Dosago el (Iv) &8 I8¢

@ @® © @
M @O @) (@Gv) (D)
2 @) @) () @)
G @) @ (v) (i)
@ @) (Gv) @) (@)
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187. Match the following

List-I
(a) Jai Bolo Telangana
(b) Shadow lines
(c) Still seeking justice
(d) Nyayam Kosam Telangana Nirikshana
&8 (808 TP 2BNBoosw
a1
(a) B &°¢® Boomrn
(b) & B8 A
(© 2o 20808 = R
(d) argoso §%%o-Boome JdE
@ () (© @
O O G Gv) ()
2 @O Gy () (@iv)
3 O aGv) @) (i)
@ ) @ (@v) (i)

List-1T
(i) Shanker

(i) Prem Kumar Aman
(iii) K. Chandrasheker Rao

.
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(iv) Osmania University Forum for Telangana

*Qa-11
(1) %o0&d

(i) (R0 %HDHrE wdo
(iii)) 3. SoETwE oo

(iv) G705 AhrAH0 38 8o $0 Bwonres

188.

Match the following

List-1
(a) V. Prakash
(b) Bhoopathi Krishnamurthy
(c) Muralidhar Deshpande
(d) Akula Bhumaiah
&3 (800 a8 2SEDHSWDw

-1
(a) 2. (DR
(b) FrHd HyHHoord
(c) 08956 BF5rod
(d) oo grdoadiyg

@@ (b)) (© @

(D Gv) @Gy @) (i)
(2 ) (@Gv) @) @1
() @) @Gv) G (@)
@ (Gv) @) (@) (1)

List-1I

(i) Telangana Janasabha

(i) Telangana Mukti Morcha
(iii) Telangana Mahasabha
(iv) Telangana Prajasamithi

Qa1

(1) Soomesn =5 v
(i) SBowomre H0E Jrd)
(i) Swomren Jo&H8dY

(iv) Soomre (D OB
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189. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to

workout the modalities related to the division. The members of the committee are

(M
)
3)
“)

Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

Digvijaya Singh, Veerappa Moily and Ahmed Patel

Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ (PTF o°R9 IFed Tgor sEN0 PThg DHHVgese HOHHSTE S0ER o8
DO BHNIE Sy DS oo aﬁa Qb Bn rdd (Dghdgo AK. ®o &' WEgEED
E18D VooV 0d. & EESH dgogen

¥

(1
2
3)
“)

&Ageddd
&AHgeeodd
&hgeddd
&hHgesodd

2oh, vy 6 HTS D008 Ho9grdod 9T
204, 36&3333003@ H08030 Hoerodd) werd
woh, g)éi)gaooooa@ H508 a2 @XP&S HBS
2of, ©wir)8 VS H0dsn Vo Yo

190. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(c) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees
Ss (800 B =BDTrodw
-1 de-I1
(a) DdDd (1) add F5rd
(b) o & (i) o
(c) dorgen (ii1) orerreo
(d) ZrSocwrd (iv) I3 Do
(a) (b) (c) (d)
(H (D) (1) (iv) (i)
(2) (@Gv) () (1) (iii)
3 O (i) (@) ()
4 @) @Gv) (D) (i)
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191. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&5556 Sofos® Boomes (Foard8 Hnd) rHods® dyo% ¢ SEmeo 1980 &o & drdo
DHO HBH wHes® owrow. 520 WrETrerd H0050 D8o([Eerd wod JKBHNS® S
© 1977 @0 § Lrdo DHO HEH Ir@EH s’ owron wd 80D HEEo

(1) & drere dE8o (2) of drg HE¥o

(B) ¥do BF =adyodo (4) Dowdrg DEEo

192. Which one of the statements is not correct ?
(1) Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

(2) Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under

the six point formula and Presidential order.
(3) Kamalanathan and Umapathi Rao were the members in the officers committee.

(4) Abdul Khadar, a senior 1.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.
& (800 dEgEwed® 2B DOTHNIO 52

(1) «88d 371 ‘& (98B0 wo(§ (DTBFS® &S égéé} DO""D(‘.‘JO ©®o00d

(2) &8 drEro HEEo 50 PRIV &E g GYoPIII JDwrde BB0oE @o(g
(535 (BeoEgdn 2dsrds TS 0D 1984¢° D500

() EHOTES HOXN SITrHBTHL BPHFY EMWG S® vebgen

(4) 508y N ©0080Dd ITOEL VORO0BILE 19858° » o g8 el wJE
0.Q.00 @50 Jdddbol T
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193. Match the following

(a)

(b)
(©)
(d)

(a)

(b)
(©)
(d)

List-I List-II
My Telugu Roots : Telangana (i) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
Battleground of Telangana (i1)) Gautham Pingali
The fall and rise of Telangana (iii) Venugopal
Telangana—United Andhra Illusions (iv) Kingshuk Nag

S (800 TG wBDLWo0

oA Teal | eI
o B Erdy : Boomrn Q& (i) Jo3rds BESO
Dr0&-d FIyd AR
g8 (TPo6 &P Svomre (1) FEo DoK®
& S ®ob TO «p Svormres (iii) Seh* S
BOOMH-BNIBVE @o(¢ B00ged) (iv) 80f%nE oh

(1)
)
)
“)

@ (® (© (@
(v) (i) (@) (i)
@) () @i (@)
() Gv) i) (i)
(v) (i) i) ()

194. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

Declaration of K.Chandrashekar Rao Fast unto death.
Telangana March to Necklace Road.
Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

&3 (800 a8 (Bdroiewom @éoéz)oé’s

(a)
(b)
(©)
(d)
()

€)

3. So3Teb ood) wdoln JSTESEE (HELD

3ES &°& 28 Boomrsm 76

(@, §Sodoro eronod wi S gand (JAC) s’bségm Q05T HoE 50
20008 8ES EME J00d Bood THo >r§  wrH I

(a), (d), (b), (¢) 2) @, (), (), (d)
(b), (@), (d), (¢) (4) (@), (), (d),(b)
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195. Match the following
List-I
(a) Goreti Venkanna
(b) Nandini Sidha Reddy
(c) Guda Anjaiah
(d) Gummadi Vittal Rao
& (808 T°IQ wSEDHG Wk

a1
(a) A°TE Bogdy
(b) J08Q 2o TG
(¢) drd eowmadyg
(d) H%03& 85 oo

@ ® © @
(M @ Gv) @) ()
) @) Gv) @) ()
@) Gv) @ > (i)
@ @) @) @D @Gv)

.
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List-11
(i) Ayyoniva Nuvu Avvoniva
(i) Amma Telanganama.....
(iii) Palle Kanneeru Pedu Thondhi
(iv) “Nageti Sallalo Na Telangana.....

et ool | |

() ©0Brgad g @553205

(i) odry Svomaddry..

(iii) 3 &I & &S 0d

(iv) “>10e @1’@35@@5% o Boome...

196. Match the following
List-I
(a) Dimsa
(b) Adrak ke Punje
(c) Perini Dance
(d) Pittala Dora
S5 (800 IQ 2SEDHHWHD
eI
(a) oo
(b) »&85 3 o=
() 08 @)y
d) 2o &3
(@ (b)) (© @
H @ @ >y Gv)
2 @O Gy (i) (@v)
@) @) @) () Gv)
4 @v) (@) (@) (D)

List-IT
(i) Babban Khan
(i) Gonds
(iii) Fastest dance form

(iv) Budiga Jangalu

eI

(1) DR PR

(i) APocdoen

(ili) SALoL DD Y& g
(iv) o&¥ eomren
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197. Match the following
List-I
(a) Ramlingeshwara Temple
(b) Erakeshwara Temple
(c) Sita Ramaswamy Temple
(d) Venugopalaswamy Temple
& (808 B eBHBod0

a1
(a) U‘%o@oﬁésd s os0
(b) Qdé%gd B© 030
(€) Derordodgd wodkho
(d) S’ roIgd sodio

@ ® © (@
(H Gv) Gy (@O (i)
2 @i @ G @Gv)
G) Gv) @) @) ()
@ @O (@) G (@)

.
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List-I1
(i) Dichipalli
(i) Kondaparthi
(iii) Pillalamarri
(iv) Nandikandi

Eat Al | |
(i) &20Y
(i1) §°0&Do
(i) DooH(d
(iv) S0b%0s

198. Match the following
List-1

(a) Mannemkonda Jatara
(b) Durajpally Jatara
(c) Siddulagutta Jatara
(d) Singaraya Jatara
& (80D G 2BDHEHWLD

e -1
(a) $9I3)o80& sy
(b) oD &Y
() ooy wrdd
(d) 2oxorcds ey

@ () (© (@
(H ) @G @ ()
() @) @Gv) @) (@)
(@) @Gv) @) () (1)
@ O G (@Gv) (i)

List-11
(1) Laxmi Narasihma Swamy
(il)) Siddeshwara Swamy
(iii) Anjaneya Swamy

(iv) Lingamanthula Swamy

kol | |
(1) oég/ SJCRSICRSLESA{SN
(i1) ?oié%sd@”gé)o
(iii) @oaﬁoﬁo@vsé)o
(iv) orfHoogooIga
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199. Match the following

(@)
(b)
(c)
(d)

List-1

9" month of Islamic calendar

Moharram

.
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List-I1
(i) Prophet Mohmmad’s birthday
(i) Bakrid

10th day of 12th month of Islamic calendar (iii) Ramjan

Milad-un-Nabi

&3 18od 7 2BV Thodw

(a)
(b)
(c)

(d)

(1
2)
)
“)

-1

CERAOSEY S°SBOC§5 5"3303/(525 I

B (G0

CEAOSLY 5*56o<:§5 SEATel<2

TSt HEH &P
Dord &S ID

@ (b)) (© (@
@) (1) @Gv) (i)
@)  (@v) @G 1)
1) (@av) @) (i)
(iv) @) (@) (i)

(iv) Shiyas

de-I1
(1) Bo%8 (d08 &d)680
(i) (8&

(iii) Soe5

(iv) 0o

200. Which of the following is not correctly matched ?
Lambadi Hakkula Porata Samithi — Bellaiah Naik

(M
)
3)
4

& (808 TS QB VOTRS @ 57

Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud

Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao

Chakali Hakkula Porata Samithi — Poosapally Saidulu

(1) voerd TrHyo Jord DN — Byalog J°05E
(2) 8 2 o Ford DB — JoFYP JedHIrs T7°6
(3) TS THo Forh Vad — S e S8yodorD

4) O &0 Fow DN —

Yoia@ 208000

o
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121
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D - Deleted. One mark will be added to all the candidates.
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